HOMOGENEOUS FUNCTIONS

Monday, January 24, 2022 1:30 PM

Homogeneous Functions:

A function u = f(x, y) is said to be homogeneous function of degree n, if $u = x^n f\left(\frac{y}{x}\right)$ where, \underline{n} is real number Note: Degree of a homogeneous function u = f(x, y) can be obtained by replacing x by xt and y by yt and if $f(xt, yt) = t^n f(x, y) = t^n u$ then u is a homogeneous function of degree n.

Same method can be extended for a function of more than two variables

A function f(x, y, z) is called a homogeneous function of degree n if by putting X = xt, Y = yt, Z = ztthe function f(X, Y, Z) becomes $t^n f(x, y, z)$ i.e. $f(xt, yt, zt) = t^n f(x, y, z)$

e.g. $f(x, y, z) = x^2 + y^2 + z^2 + 2xy + 2yz + 2zx$ is a homogeneous function of degree 2.

EULER'S THEOREM:

 \checkmark

If u is a homogeneous function of two variables x and y of degree <u>n</u> then $\left(x \frac{\partial u}{\partial x} + y \frac{\partial u}{\partial y}\right) = \frac{\partial u}{\partial y}$

EULER'S THEOREM FOR A FUNCTION OF THREE VARIABLES:

Theorem: If *u* is a homogeneous function of three variables *x*, *y*, *z* of degree *n* then $x \frac{\partial u}{\partial x} + y \frac{\partial u}{\partial y} + z \frac{\partial u}{\partial z} = nu$

Note: In general, if u is a homogeneous function of x, y, z t of degree n then Euler's Theorem states that $x \frac{\partial u}{\partial x} + y \frac{\partial u}{\partial y} + z \frac{\partial u}{\partial z} + \dots + t \frac{\partial u}{\partial t} = nu$

SOME SOLVED EXAMPLES:

1. If
$$u = e^{x/y} \sin\left(\frac{x}{y}\right) + e^{y/x} \cos\left(\frac{y}{x}\right)$$
, prove that $x\frac{\partial u}{\partial x} + y\frac{\partial u}{\partial y} = 0$.
 $u = f(m, y) = e^{m/y} \sin\left(\frac{m}{y}\right) + e^{y/m} \cos\left(\frac{y}{m}\right)$
put $m \to mt$, $y \to yt$
 $f(mt, yt) = e^{mt/yt} \sin\left(\frac{mt}{yt}\right) + e^{y/m} \cos\left(\frac{yt}{mt}\right)$
 $= e^{n/y} \sin\left(\frac{m}{y}\right) + e^{n/m} \cos\left(\frac{y}{m}\right)$
 $= e^{0} f(m, y)$
 $\therefore u = f(m, y)$ is a homogeneous function
 ot deg $n = 0$
 \therefore By Euler's theorem
 $\frac{m}{2m} + y\frac{2m}{2y} = nu = 0$

2.
$$IIu = \frac{1}{x^2} + \frac{1}{xy} + \frac{\log - \log y}{x^2 + y^2}, \text{ prove that } x \frac{\partial u}{\partial x} + y \frac{\partial u}{\partial y} + 2u = 0.$$

$$\underline{So}^{h}: \qquad U = \int (M, y) = \frac{1}{N^2} + \frac{1}{Ny} + \frac{\log 3n - \log y}{N^2 + y^2}$$

$$put m = mt, \quad y = yt$$

$$\int (mt, yt) = \frac{1}{(mt)^2} + \frac{1}{(mt)(yt)} + \frac{\log \left(\frac{mt}{yt}\right)}{(mt)^2 + (Mt)^2}$$

$$= \frac{1}{N^2 t^2} + \frac{1}{myt^2} + \frac{\log (mt)}{t^2 (m^2 + y^2)}$$

$$= \frac{1}{t^2} \left[\frac{1}{N^2} + \frac{1}{ny} + \frac{\log n - \log y}{N^2 + y^2} \right]$$

$$\int (mt, yt) = \frac{1}{t^2} \int (mt, y)$$

$$\therefore \quad U = \int (mt, y) \text{ is homogeneous with degn=-2}$$

$$\therefore \quad By \quad Euler's \quad Hearem$$

$$M \frac{\partial u}{\partial m} + y \frac{\partial u}{\partial y} = nu = -2u$$

$$M \frac{\partial u}{\partial m} + y \frac{\partial u}{\partial y} + 2u = 0.$$

$$Hence proved.$$

3. If
$$u = \frac{\sqrt{xy}}{\sqrt{x} + \sqrt{y}}$$
, find the value of $x \frac{\partial u}{\partial x} + y \frac{\partial u}{\partial y}$.
Solt: $U = f(m, y) = \sqrt{\frac{\sqrt{y}}{\sqrt{x} + \sqrt{y}}}$
 $f(mt, yt) = \sqrt{\frac{\sqrt{y}}{\sqrt{x} + \sqrt{y}}} = \frac{t}{\sqrt{x} + \sqrt{y}}$
 $f(mt, yt) = \frac{\sqrt{x}}{\sqrt{x} + \sqrt{y}} = \frac{t}{\sqrt{x} + \sqrt{y}}$
 $f(mt, yt) = t^{1/2} f(m, y)$

$$f(mt, yt) = t^{12} f(m, y)$$

$$u \text{ is homogeneous function with deg } n = \frac{1}{2}$$

$$\frac{\partial u}{\partial n} + y \frac{\partial u}{\partial y} = nu = \frac{1}{2}u = \frac{1}{2} \frac{f(my)}{f(m+y)}$$
If $u = (8x^2 + y^2)(\log x - \log y), \text{find } x \frac{\partial u}{\partial x} + y \frac{\partial u}{\partial y}$.

5. (i) Verify Euler's Theorem for $u = ax^2 + 2hxy + by^2$

$$\frac{50!^{n}}{2} = u \text{ is homogeneous function of deg 2}$$

$$(check + his)$$

To Verify Euler's theorem, we have to
Show that

$$\frac{3u}{3m} + y \frac{3u}{3y} = 2u$$

$$u = am^{2} + 2hmy + by^{2}$$

$$\frac{3u}{3m} = 2am + 2hy = 2m \frac{3u}{3m} = 2am^{2} + 2hmy$$

$$\frac{3u}{3y} = 2hm + 2by = 2y\frac{3u}{3y} = 2hmy + 2by^{2}$$

$$\frac{3u}{3y} = 2hm + 2by = 2am^{2} + 2hmy + 2hmy + 2by^{2}$$

$$= 2(am^{2} + 2hmy + 2hmy + 2by^{2}) = 2u$$

$$= 2(am^{2} + 2hmy + by^{2}) = 2u$$

$$= 2(am^{2} + 2hmy + by^{2}) = 2u$$

$$= 2(am^{2} + 2hmy + by^{2}) = 2u$$

<u>h.n</u> $-\overline{\sqrt{x}+\sqrt{y}+\sqrt{z}}$

we can show that u is homogeneous function with
deg n=
$$\frac{1}{2}$$

Hence to verify Euler's theorem, we show that
Xou, you, zou = 1 u

Hence to vening

$$\chi \frac{\partial M}{\partial n} + \chi \frac{\partial M}{\partial n} + \chi \frac{\partial M}{\partial n} = \frac{1}{2}n$$

Now
$$U = \frac{m+y+z}{Jm+Jy+Jz}$$

 $\frac{Jm+Jy+Jz}{(Jm+Jy+Jz)\cdot(1)} - \frac{m+y+z}{2Jm}$
 $\frac{Jm+Jy+Jz}{(Jm+Jy+Jz)^2}$

$$= 2 \int m \left(\int m + \int y + \int z \right) - (m + y + z)$$

$$= 2 \int m \left(\int m + \int y + \int z \right)^{2}$$

$$\frac{\partial u}{\partial n} = \frac{2 \varkappa (\int m + \int y + \int z) - \int m (n + y + z)}{2 (\int m + \int y + \int z)^2}$$
(1)

Similarly,

$$y \frac{\partial u}{\partial y} = \frac{2y(\int m + \int y + \int z) - \int y(m + y + z)}{2(\int m + \int y + \int z)^2} \qquad (2)$$

$$z \frac{\partial u}{\partial z} = \frac{2z(\int m + \int y + \int z) - \int z(m + y + z)}{2(\int m + \int y + \int z)^2} \qquad (3)$$

$$a dding \qquad (1), (2) + (3)$$

$$m \frac{\partial u}{\partial m} + y \frac{\partial u}{\partial y} + z \frac{\partial u}{\partial z} = \frac{2(m + y + z)(\int m + \int y + \int z)^2}{2(\int m + \int y + \int z) - (m + y + z)(\int m + \int y + \int z)^2}$$

$$= \frac{2(J_m + J_y + Z_z)}{2(J_m + J_y + J_z)}$$

 $\frac{\partial u}{\partial n} + \frac{y}{\partial y} + \frac{\partial u}{\partial z} = \frac{1}{2} u$ Hence Fourier's theorem is venified.

1/28/2022 2:15 PM

(iii) Verify Euler's Theorem for $u = x^4 y^2 \sin^{-1}\left(\frac{y}{x}\right)$

Solow:
$$U = n^{4}y^{2} \sin^{2}\left(\frac{y}{n}\right)$$
 is homogeneous function
with deg n=6.
To venify Euler's theorem, we show that
 $n \frac{\partial u}{\partial n} + y \frac{\partial u}{\partial y} = 6u$
Now $u = n^{4}y^{2} \sin^{2}\left(\frac{y}{n}\right)$
 $\therefore \frac{\partial u}{\partial n} = y^{2}\left[4n^{3}\sin^{2}\left(\frac{y}{n}\right) + n^{3} \cdot \frac{1}{\sqrt{1-(\frac{y}{n})^{2}}} \cdot \left(\frac{-\frac{y}{n}}{n^{2}}\right)\right]$
 $\frac{\partial u}{\partial n} = y^{2}\left[4n^{3}\sin^{2}\left(\frac{y}{n}\right) - \frac{yn^{3}}{\sqrt{n^{2}-y^{2}}}\right]$
 $\therefore \frac{\partial u}{\partial n} = 2n^{4}y^{2} \sin^{2}\left(\frac{y}{n}\right) - \frac{yn^{3}}{\sqrt{n^{2}-y^{2}}}$
 $\therefore \frac{\partial u}{\partial n} = 4nn^{4}y^{2} \sin^{2}\left(\frac{y}{n}\right) + \frac{y^{2} \cdot \frac{1}{\sqrt{1-(\frac{y}{n})^{2}}}{\sqrt{1-(\frac{y}{n})^{2}}} \cdot \left(\frac{1}{n}\right)\right]$
 $= n^{4}\left[2y\sin^{2}\left(\frac{y}{n}\right) + \frac{y^{2}n^{4}}{\sqrt{n^{2}-y^{2}}}\right]$
 $\therefore \frac{\partial u}{\partial y} = 2y^{2}n^{4}\sin^{2}\left(\frac{y}{n}\right) + \frac{y^{2}n^{4}}{\sqrt{n^{2}-y^{2}}}$
 $a dding O A OD$
 $n \frac{\partial u}{\partial n} + y \frac{\partial u}{\partial y} = 6n^{4}y^{2}\sin^{2}\left(\frac{y}{n}\right) + heaview is viewified.$

 $x^{3}y^{3}z^{3} , (xy+yz+zx) , \ldots , \partial u , \partial u , \partial u$

6. If
$$u = \frac{x^{3}y^{3}}{x^{3}y^{3}x^{3}y^{3}}$$
, find the value of $\frac{y_{0}}{y_{0}} + y_{0}^{0} + z_{0}^{0}$.
Solution: Using not homogeneous
but $u = U + \omega$
where $V = \frac{x^{3}y^{3}z^{3}}{x^{3}+y^{3}z^{3}}$, $\mathcal{L} = \log g\left(\frac{x^{3}y^{4}y^{2}+z^{2}}{x^{2}+y^{2}+z^{2}}\right)$
V is homogeneous with deg $n_{1} = 6$
 ω is homogeneous with deg $n_{2} = 0$
By Euler's thm,
 $x_{0} \frac{\partial \omega}{\partial n} + y \frac{\partial \omega}{\partial y} + z \frac{\partial \omega}{\partial z} = n_{1}N = 6N$
 $\frac{\partial \omega}{\partial n} + y \frac{\partial \omega}{\partial y} + z \frac{\partial \omega}{\partial z} = n_{2}\omega = 0.\omega$ (2)
 $u = u + \omega$
 $\frac{\partial \omega}{\partial n} + y \frac{\partial \omega}{\partial y} + z \frac{\partial \omega}{\partial z} = n_{2}\omega = 0.\omega$ (2)
 $u = u + \omega$
 $\frac{\partial \omega}{\partial n} + y \frac{\partial \omega}{\partial y} + z \frac{\partial \omega}{\partial z} = 6V = 6\left(\frac{x^{3}y^{3}z^{3}}{x^{3}+y^{3}z^{3}}\right) = 6v + 0\omega$
 $x \frac{\partial \omega}{\partial n} + y \frac{\partial \omega}{\partial y} + z \frac{\partial \omega}{\partial z} = 6V = 6\left(\frac{x^{3}y^{3}z^{3}}{x^{3}+y^{3}z^{3}} + z \frac{\partial \omega}{\partial y} + z \frac{\partial \omega}{\partial z} + z$

Hence prove.

$$x \frac{\partial v}{\partial n} + y \frac{\partial v}{\partial y} = nV \qquad (1)$$
How $u = f(v)$

$$\therefore \frac{\partial u}{\partial n} = f(v) \frac{\partial v}{\partial n} = 2 \cdot n \frac{\partial u}{\partial n} = n \cdot f(v) \frac{\partial v}{\partial n} - (2)$$

$$\frac{\partial u}{\partial y} = f(v) \frac{\partial v}{\partial y} = 2 \cdot y \frac{\partial u}{\partial y} = y \cdot f(v) \frac{\partial v}{\partial y} - (3)$$

$$a \frac{\partial u}{\partial y} + y \frac{\partial u}{\partial y} = f(v) \left[n \frac{\partial v}{\partial y} + y \frac{\partial v}{\partial y} \right]$$

$$= f(v) \left[n \sqrt{2} \right]$$

$$x \frac{\partial u}{\partial v} + y \frac{\partial u}{\partial y} = n \cdot v f'(v)$$

$$f(v) = \sqrt{2}$$

$$\therefore f'(v) = \sqrt{2}$$